55 4 2EDABAL= AEFEKEH K=

Xt BAEEXEFERO ST (F285F10A108 (B) : SHEIKRIE)
HESR B
1 2 3 4 5 6 7 8 9 ast| E
T 0 0 0 0 0 0 0 0 0 0 2
RATEEEF kO ST 0 0 0 0 0 0 0 0 0 0 -
MPWUEERER 3 2 0 0 0 1 0 0 X 6 =
T 2 3 0 0 1 1 2 0 X 9 2
[BFF] <MMLUEBRRE> I%F: KT
1| <@ K4 1E | 2E | 3E | 4E | 5B | 6B | 7[E ( 8E | 9[H 8 | 247 | 1 | B2 | &K
1 4 | FHEEXE| —E1|AR= =R B 4 1 1 1
2 6 mORE | 87| &= |<r—ocso=anl ER Rl 4 2 1
3 7 EHE | &R | =R EA =i 4 2 1
4 9 FAX | &8 | =R —EDP 10 4 1
5 3 MiEAs | FEEkL =10 AARE =i 4 1 1 1 1
6 5 JVHEM | #EE1 =10 ok = 4 1 1
. D FHEE | =ik 10 2
H. D | HiREks =EDP 1
2 | KEME—EP LT #3°0 A 3 1
8 Foy Ny N =) P b1 3 1
X EFITEDORICEH 4R BF R
(F] <MMLUESIHKES>
K& EI%X 18 |19ERE| =47 | = | 4R4T (MOOEER| =iR | k= |BER| [BFESF]  dcEesth
JLE Rkt 5@ 18 | 66 2 1 (=871 @O
ILIFHEEE] 4[g] 13 45 3 (Z84]] =H
[REIT]  #%
(#iF] <MMLUESIKES>
K& P55 3 TRIHE RE =820
JKEE—EB 1
(FF] <EEEXFRIST> 18F:LE
7| @ K& 1l ( 2[@ | 3@ | 46 | 568 |, 66 | 7E | 8B | 9F (| 7% | &IT | 1= | BE | %K
1 8 S —I'n #7310 =R TR 4
5 4 BS —In = =10 3
H BEA —Ioff 1
3 3 =4t 10 uEk —I1'0 —1'o| 4 1
4 9 AAF —E HhfR =15 =Rl 4
5 DH B —1'o —1'o B30 3
6 2 R FhFR R =E1 3 1
7 6 BA ruEk 10 —1'o 3 1
8 5 B ! #71°0 =i 3
9 7 2l ER —1'o R 3
(1&F] <KIEERTERIST>
K& 12X 18 [193R%)| &=IT | = | BT (M| =R | kR |BES| (MESF] 6H
#H 1[E1/3 11 26 2 1 1 5 2 [Z£17]
I 3[E2/3 12 56 1 1 3 1 1 [=£17]
FLEF 3@ 10 54 1 2 [AE4T)
(#F] <N\EBBC>
K& bi%5 3 TRIFE e =20
R 3




